o §+a(h /"j(’”‘ At
42. Joey has $50 and earns $12.50 per day. He wants to save at least $250.00. Write an inequality that represents this
scenario. Do Not Solve! 12.50% +50>3250

3

43. Evaluate each absolute value expression.

a [4-12] = |-8([=€ b. |87 - |-50]= 56

c. |-13|—]6—-10| d. lﬂl *Write your answer as a fraction!
|3 = ' "'H =L 02
34 = 9 el

44. Solve each absolute value equation. Remember, get the absolute value sign by itself (as if it were a variable).
Then, set what is inside the absolute value sign equal to the positive and negative values of the number on the

other side of the equals sign.

a. [2x-5|=7 2x-5=7 Ax-5-=-7 b. |-2x+7|=11

4545 +5#5 . _gge7=ll -2x Tl
KX = 14 -2 o ST
4 4z absolute velve v g "R -lf
S L ! G o
Y L 0 ‘
c. |x—6]+8=41 d. 52=7|x-2|-4
A :jL i:i —————_::i__ g’, 1( EL
[%-0] =353 56 7|%-2|  +a 4z
- = —é=°33 =
/}(4-0(} 34-3(4 4 t6e t& g 7 10 = %
£:39 x= 2y = [x-2] Sy
45. Consider the sequence shown. . 8 +2 2
a. Describe the pattern. ©e e oo ~&= K
Add one msre rowof dofs, o
b. Draw the next two figures of the pattern. SOL 8 .o:o:o.
oo ®
doe ® L ] @® 0o © © o

c. Write a numeric sequence to represent the first 5 figures.
+2 +0

, Y N YV
é/v(a vLe o il

>

L] [ ]
46. Consider the sequence shown. ° . '-.-°
o.o .o. .a'o.
a. Describe the pattern. 2 - b e .
] ]
Add o dot to each armt. S, p e e
() " o
b. Draw the next two figures of the pattern. "'. . )0
a 9 40
¢ ¢
c. Write a numeric sequence to represent the first 5 figures. 7 % ~
o /\)—% /gﬁl» A s 0

b

5 0/,[3,/’7,2{



47. JoJo’s Pizza Shop made 16 pizzas on Monday, 22 pizzas on Tuesday, and 28 pizzas on Wednesday. If this pattern
continues, how many pizzas will JoJo’s Pizza Shop make on Friday?

Won Tues  Wed Thue i
2 22 &g 34
Ny ——7 7/ > J L{'o L-l() P,’zzas
t+& t & t& +6

48. Bradley sends two text messages to his friends to tell them school is cancelled because of snow. Each of those
friends send two text messages to tell their friends the same news. Each of those friends send two text messages
to tell their friends the same news, and so on.

a. Write a numeric sequence to represent the number of calls made in each of thj. first 5 sets of phone calls.
avie =
02 s ' = ‘ > no ﬂ/LC S ]

13 A s ‘-/ s g Py l@ ) 32— L‘_R ;& n0+ a(l‘t—h/Me‘b(’

b. Is this an arithmetic or geometric sequence?
_2,_ = L_L = g’ =09 Sam
e il Lovanion rah o

écomdw'c,

49. The Robinsons are draining their family swimming pool. After% hour, there are 7500 gallons of water in the pool.

After 1 hour, there are 7200 gallons of water in the pool. After 1% hours, there are 6900 gallons of water in the
pool. If this pattern continues, how much water will be in the pool after 3 hours?
Yo lr | hr | Vonr g__lz—\ﬁ_ j'/z.hr 3lnr
7500 7200 400 600 L300 GO0
~300 — 300 - 3060
~300 —300

500_@a1(m/\ C/Val'/lmj @\/6_'_/5 Yo bhhouc @OOO_ﬁaNo’ms

50. Identify each sequence as arithmetic or geometric. Then, determine the common dlfference or common ratio

for each sequence. N
a. 255,800 814, 17 b. -6,12,-24,48,-96
5-2=3 Caea s pAS e
g§-563 -6 12
wehe
d= 2 Acith :-2 CGeonletric

V‘:'LL{ | écomc‘h’«z,
e. —6,-8,-10,-12,-14

~§-(-6) == +6 =
= (021603 )——10+Z iy
d=-=2 Aff‘i'W‘MCL"C’

i
'3:9° 77731

=il [ ool

3 = — -’l"::,

E e
3

.= Ig éco M4 dﬂ'a

d. 0.13,0.38,0.63,0.88,1.13
0,3?"0:’6: 01&5
0.b3-0,38 =0.25

Az0.25 Arithmetic

f. 200,20, 2, 0.2, 0.02

0 X
Sl = sl ———=
QOO = o ol

r=0.1  Geometric
h. 8,-1,-10,-19,-28

- - —-Q
0 GIN= ===

Ad=-9 Archametic



51. For each sequence, determine whether it is arithmetic or geometric. Then, use the appropriate formula to
determine the 15th term in the siquence

terna
Grsit +d(n-—1) E.=&17 \ common caho
w
aonni‘?ﬂfﬂﬂﬂﬁ ,S‘I’ +CVM
a. 5,10,20,40, 80, 160 = 1S R S E ]
Ee b il ity A==
=L D Lecometric (-5 =L

15-1

_6|5=5‘02 = 5-&'4
Yis =51920 Qe =I5

c. —025,05,125,2,2.75 e
0.5-(-0&8) = p,75 AL=075 LA L
/: (25 - 0:5 = Ol 75 AY’_ILP)MZ%,C’ Li = & 24 é‘_or’t"()‘flb

; S LY |
oo ogsen | ss LA b
Gyz =025 + O504) = 10. 35
52. Determine the 50th term in the sequence defined bya =-11+5(n-1) .
A, = -1l +5(50-1)
@50 = ’// *5(‘/Q)
254 1 =
53. Determine ge 7th term in the sequence defined by g, 2( ) .
e
7 L0 (g j—;—JQ or O, 03115

Gr=a &Y
54. Determine the pattern in the sequence: 7 14 21 28, .... Then, write a function to represent the pattern.
+7+7 +7 &n=7+7(n—|)
d-= 7 AV{‘"M')M&HC.
Complete the table and graph each exponential function. Identify the x-intercept, y-intercept, asymptote, domain, and
range. Type each expression into the calculator exactly as it is written, replacing x with its value.

&

55% f(JC)"—"—4'2x # Ay N
T8 | B2 ] 2 6 | 'x
x|y f
a. x-intercept(s) |\/o ne : '
2| i
b-* y-intercept (0) —4) T 1
c. asymptote Y =O sl—\
! 2 : A E
d. domain A” real VU/‘/W‘\,O("’g ¥ 0 ‘7[ ; e ‘
..... —f—— N S = "'12 — —
€. range H<O e '7 .
f. Circle one: increasing or 2 le 16




57.

Ay
56. f(x)=3-2". x|y i ki
a. x-intercept(s) f\{ one 2 0. o ',_?t. JEE
40
; : . e 9
b. ¥g/-mtercept ( 0) 5) -1 1.5 ] or |2 ‘y Sl - ‘,}._.
c. asymptote g =0 ¥ O 3 | 1
i
d. domain All real numbes L ¢ {
4/
ST S 2 |12 EEEEENE I aREs
f.  Circle one:(increasing ) or decreasing = A
By T o
Use the simple and compound interest formulas to complete the table. Round to the nearest cent.
Simple: A=P+(Pr)t A=20000 + 20000(0.025)¢t
il = goo00 + S00t Simple Compound
0% Time Interest Interest

58.

Compound: A=P-(1+r) s 4

(e
4 = 20000 (140.025)° L5y
= 20000 (1. 025)*

N Balance Balance
¢ months Q0850 |2034%. 4o

1 year 20 500 K0 500
5 years AR 50D |z224L2% 16

20years | 4p00D | 3877L.33

a. Complete the table given an initial deposit of $20,000
and an interest rate of 2.5%. Pz 2DOOO v = 0.2 a5

b. Would it be worth paying a fee of $250 to keep your money in the compound interest account for 20 years?

Why or why not? 32772, 33
-~ X250
? 32 522, 33 Yea, it's more thant thu siuple inferestacet
c. How would you find the rate of change for a simple interest account? Would you use the common difference
or the common ratio? /H/IL aiétoid ereases !QM, <+ 500 each Year,

so _%OM UOO(/\,‘G{ use. the cormniot d:‘F eice
d. Which account is growing exponentially?

@U‘MAP ornd !'»/H’WCS'E"

Carrie plans to deposit $1,480 into an account that pays compound interest. How much will be in her account

given the rate of interest over a specified period of time? Round to the nearest cent. 4= P(1+7)’

P= 1480
a. 1.9% for 10 years b. 3.6% for 15 years .
V= OOOIq t:’O V‘D:Osé t=’
0 2 15
A=1480(1+0.019) A= 14%0 (”0'036,2( o
A= elso CLela) A= 1480 ( 1.036)

A= 317%¢,50 4= %2515, 76



P

59. The utility costs for Hoover High School this year were $74,000. Write a function that represents HHS’s utility
costs as a function of time in years for each scenario. Choose the correct formula!

A=P(+r) or A=P(-r)

[
o b o3 > 00 7k
a. Costs increase at a rate of 2.3% per year b. Costs decrease at a rate of 1.7% per year
A=P1+r)E = 700 ( | +0,033)" A= P(1-r)t= 79000(1-0.017)®
A = 74000 (1.023)* A = 74000 (0.G8 3)E

60. Enrollment at the University of Alabama has reached 60,000 and is expected to increase at a rate of 7.5% per
year. How many students are expected to be enrolled after 3 jyears? A=P(+r)

= 60000 . Az(oo0O([+0.075)
= 0.075 A =,0000(1.075)°
t-3 A= 74538

61. Approximately, 456 bacteria are living in a Petrie dish. Scientists are testing a new vaccine that is expected to
decrease the number of bacteria at a rate of 2% per year. How many bacteria will be left after 6 years?

A=P(=r) P45C 4 = 456()~ 0 ooa,)
ool S e Clog8)”
i A-oo4

62. Write the equation of each new function g(x) after the translation described.

a. f(x)=-10x after a translation 5 units to the rlg LI S 4&’5)
9gx) = -10(x-5)

b. f(x)=3" after a translation 4 unitsup /7 +4
G(x)= 3%, 4

ct () =Dk aﬁeratranslatlonZumtsl@ HT (x+a)
4= & (gra)*

d. f(x)=x" afteratranslation 2 unitsup V T + 2.

9= )P+ L

63. Describe each graph in relation to its basic function, i.e. vertical translation up 2 units.

vy
a. Compare g(x)= (x+3) to the basic function f(x)=x’

forpovm{’nt translationt le‘F‘i’ 3 wnits

b. Compare g(x)=>"+1 to the basic function f(x)=5" .
\/e{ *'c;oaf trans lachon u,P | UJ’L!{“.

c. Eempare—g(x)=>b tothe basicfunetion—()-=5H> .

e

Compare g(x) =x’ +9 to the basic function f(x)=x’ :
Verdical trans|atior wp q Ui TS
Compare g(x) =b"=" to the basic function f (x)=b".

("(OVI"Z.O‘A‘I" { %’rﬁf‘u Kx"?m“ rfﬂl/l'}" l uny

o

el IS
[
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